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T & c) feeling hungry d) useful
R) BTWONT W93, Q) B3I w03, 23. “understandably” is an ........ccceceeveiiunnne
R) NI =3, Q) TRAINE W, a) verb b) adverb
17. 3RET0= B2 IJ e 4 OITNYD, JerT. c) noun d) adjective
Naomﬁcsab e:sm 5300
24. Each sentence given below contains an idiom
adaw%zs?% I3 /phrase from the given alternatives choose the
one that best expresses the meaning of this
WRWS idiom /phrase.
D) VORI Q) TrOE Bury the hatchet
) ©TBOI 8) 200N a) bury dead body
18. 3RE0om T3 IF R 4 LLITRYRY, JeRT. b) start the conflict
RO0RTHT,, GOL e
c) end of the conflict and become friendly
ANIBFT I
d) none of the above
QWY
25. In the following.question, a sentence has
D) MOT W) Tors been given in Active/Passive Voice. Out of the
. four-alternative suggested, select the one which
2) A% @) A0 best'expresses the same sentence in Passive/
19, 40Ums TS TFiie 4 WITHYR, DAT. Ry Vot
~5°m£33353 504 LBwD The packet has not been opened by anyone.
BDTPTE I a) Anyone has:not opened the packet.
Qe b) No-one has opened the packet.
D) ROT Q) g3 c) No one has not opened the packet.
2) @D ®) TROWY d) No ohe has been opening the packet.
20. 3RETE B2 WI e 4 €OITNER, Ver: 26. choose the synonym of the following word
ROCIRTRER, SO 330250
PANG
BRTFET I3
a) lake b) shar
o3 ) ) sharp
c) intense pain d) aggressive
Q) LT Q) ©TETZ
- . 27. choose the the answer which is nearest in
%) JTTETE Q) BREIMOTS the meaning to the word underlined.
General English a lackadaisical security force only encourages
21. choose the synonym of the following word. crime.
TRANQUILLITY a) strong b) vulnerable
a) peacefulness b) sadness c) enthusiastic d) lethargic
. N 28. choose the correct degrees of comparison in
c) happiness d) significant the given sentence.
22. choose the synonym of the following word Vinod is one of the happiest person.
DISMAY a) positive degree b) comparative degree
a) significant b) discouragement F'S c) superlative degree d) type - 4 degree
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29. find out the correct figures of speech for a given C 3 2) abrupt b. brisk
sentence '
The camera loves her as she is so pretty. 3) agile . abudant
a) simile b) metaphor 4) phony d. genuine
c) personification d) heperbole ! 2 3 4
30. Each sentence given below contains an idiom / a) a b ¢ d
phrase from the given alternatives choose the one b) c a b d
that best expresses the meaning of this idiom /
phrase. c) C d a b
The Dark Horse d) C a d b
a) Dark horse 35. match the followings.
b) black horse Words synonyms
c) Someone who wins something unexpectedly 1) gluttons  a. most active
d) expected success 2) spryest b. éxcessive
31. fill the appropriate word in the given space 3) diligent ¢. hard working
It was with great difficulty that | could remind him 4) verdant drich vegetation
his promise.
1 2 3 4

a) about b) of

. a) a b c d
c) from d) with

. . . b) C a b d
32. correct active / passive voice formof the

following sentence. c) b a c d

Workers do the work. d) Cc a d b

a) The work is done by workers 36. choose the synonym of the following word
b) Work done by.workers. DILEMMA

c) The work done by workers. a) situation b) influence

d) Work is done from workers. c) confusion d) comparison

33. which of the following sentence is a correct 37. choose the correct masculine form of the
form of direct speech. given word.

He says that Ram is hungry. GOOSE

a) He says, “Ram was hungry” a) bull b) earl

b) Ram says, “He is hungry” c) hart d) gander

c) He told, “Ram is hungry” 38. Which of the following sentence is

“ . ” grammatically correct?
d) He says, “Ram is hungry

a) The Hindu culture assigns the highest position

34. match the followings. to the Pandit.
Words Antonyms b) Hindu culture assigns highest position Pandit.
1) scanty a. gradual c) Hindu culture assigns highest position to
Pandit.
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d) None of the above.
39. Each sentence given below contains an idiom
/phrase from the given alternatives choose the
one that best expresses the meaning of this
idiom /phrase.

BETTER LATE THAN NEVER

a) doing something late is better than not doing
it.

b) Don’t do anything.

c) doing something fast is better than not doing
it.

d) doing nothing late is better than not doing it.

40. rewrite the following sentences as reported
speech.

Manju asked me, “did you see the cricket match
on television last night?”

a) Manju asked me whether | saw the cricket
match on television the earlier night.

b) Manju asked me did | see the cricket match on
television the last night.

¢) Manju asked me whether | had seen the cricket
match on television the earlier night.

d) Manju asked me whether | had seen the cricket
match on television the last;night:

Computer Literacy

41. which part‘of computer helpsto store
information

a) disk drive  b) keyboard
c) monitor d) printer
42. passwords enable users to .......cccceeereeennnne

a) get into the system quickly
b) make efficient use of time
c) retain confidentiality of files
d) simplify file structure

43. the main directory of a disk is called the

.................. directory
a) network  b) folder
c) root d) program

44. what does the acronym BIOS stand for?

a) Basic input/ outer system

b) Basic internal output system

c) Basic inner/output system

d) Basic input /output system

45. which of the following is the type of software
that controls the internal operations of the
computer?

a) Shareware

b) public domain software

c) application software

d) operating software

46. which one of the following resources is not
necessarily required on(afile server?

a) monitor b)processor

c) network-. d) seeondary storage

47. is used to represent a character of
information.

a) Field b) Bit

c) Byte d) Attribute

48. RAM is located in
a) Motherboard b) Extension board

c) External Drive d) None of the above

49. manages the transmission of outgoing
mail?

a) SMTP b) FTP

c) HTTP d) None of the above

50. Out of the following options which device is
not an output device?
a) Scanner b) Printer

c) C. Plotter d) Monitor

51. V-RAM is used for access of the following?
a) Video & Graphics b) Text & Images
c) programs d) None of the above

52. An assembler is a program that converts
assembly language into machine code. Which of
the following is not a type of assembler?

a) One pass b) Two pass
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c¢) Load and Go d) Three pass ® 58. computer language used on internet is
53. Which of the following query is correct for a) PASCAL b) JAVA

using comparison operators in SQL?
c) BASIC d) LOGO
a) SELECT name, course_name FROM student
WHERE age>50 and <80; 59. The transfer of data from a CPU to peripheral
devices of computer is achieved through

b) SELECT name, course_name FROM student
WHERE age>50 and age <80; a) Modems b) Computer Ports

c) SELECT name, course_name FROM student c) Interfaces d) Buffer Memory

WHERE age>50 and WHERE age<80; .
60. The reverse process of transferring the data

d) None of these back from the step to the CPU register is

54. Which is the subset of SQL commands used to a) Pulling out the stack
manipulate Oracle Database structures, including

tables? b) Popping off the stack

a) Data Definition Language (DDL) ¢) Popping about the stack

b) Data Manipulation Language (DML) d) None of the above

c) Both of above General knowledge/ =58, @g,ohs
d) None 61. which of the'following is not matched?

55. void main() 33 FENJIPHNYY 3R TOCIRN BROVFCIRMHFHNY?
{ a) decibel - unit of sound

char *p; b) horse power - unit of power

printf(“%d %d”, size of *p, sizeof(p)); c) nautical mile*= unit of distance

} d) Celsius - unit’of heat

the output of-the above program a) BRVS® - TYT NFRWT

a)l 1 b)2 2 b) Zox'r TRTT - BION DITFWT

cl 2 dz2 1 C) T B0 —~ YOITT ISP

56. which one of the following operators takes d) ZO0RT - 00T DIFPT

ly int ds?
only integer operands 62. When body falls freely towards the Earth,

a) + b) * then its total energy
c)/ d) % [DR) S0TTN PRWoH IBR VIR, ¥TT W, 3§
57. computer software can be defined as a) Increases
a) the computer and its associated equipments. b) Decreases
3) the instructions that tell the computer what to ¢) Remains constant
o

d) First increased then decreased
c) computer components that act to accomplish a

d) an interface between the computer and the b) FRF0cdRMII
network
c) % SN GVYOINTT
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\

d) Sy Dy TOIT FRBOIPMHITI

63. Bernoulli’s principle is based on which
among the following laws?

ALl TR B FSNTINYY 3% QoSBT
B80283?

a) Conservation of mass

b) Conservation of momentum

c) Conservation of angular momentum
d) Conservation of energy

a) BWTS0D FOTIE

b) s@ens xodgﬁ

C) 3ReeOD BIeNnT zﬁodgﬁ

d) 3sch xooEE

64. During short circuiting the current flowing in
electrical circuit

TEFE TIRFEF FTORTY AW ToROTY
BooinT DT J

a) Reduces substantially

b) Does not change

¢) Increases instantaneously

d) Varies continuously.

a) ReeReoRTVA, TR, [IWOITI
b) LB ey HY

c)ze §g@$e éasggc’i

d) 2T0BT=oN WTRMHTT

65. The contribution of Archimedes to the
physics

2533%39% BIENRTT I AT
a) invention of zero  b) Law of Inertia

¢) Quantum statistics d) principle of buoyancy
b) =@IT AoBHH

d) SeenRFod 33,

a) 3RJ 0D LTI
C) ?mdo@sw HOFLWOSNED

66. The process of of complex organic
compounds are decomposed by microorganisms
such as yeast and bacteria into simpler

organic compounds. This process is called as

Hoderar TTCHT BOCIWINY JFododn oex?,
THI IRICOCRTOBT AT CINYOT BT
mFoL Hookognven IFHIRLYIH.
TSR, o 20T FBOHTTHIT.

b) Rancidity

a) Fermentation

c) Composting d) None of the above

a) DDRIDE b) co e
¢) To0TpeR O d) e cYTR ©Y

67. Why is water not suitable for putting out a
petrol fire?

Bprw® 3030y, SODTL ATy 0E BRITY?

a) The oxygen content of water is isolated by
petrol and does it help in burning.

b) Petrol is inflammable. to be extinguished by
water.

c) The heat réquired for combustion of petrol is
very low:

d) Water being heavy slips below petrol which
remains in contact with air and burns.

a) Q00T WRNRTIB W3y BWRLYT J0T
@%e%x%céagg R W ICHES TTOODH
ENCIn S

\Sp)
b) Fedpeer, 9, [DeOVOT SO/TRM, DT T
TRET TN

C) TWRS TIIT, 3eTordE ToDY BOLD
FRF AT,

d) o003 Qe HBedeee® Nog F9E
PRHTOOT BT MECIRODR FOFBFTIDIT.

68. The gas is used for Artificial ripening of
Green fruit is

T2 wa%mmd s@ssmn NRNTL WEDR WAV

a) Ethylene  b) Acetylene

c) Ethane d) Carbon dioxide

a) 20T b) ®ae3des®

C) 33T’ d) gomos @e}@i@w’

69. cockroach cannot survive in the water
because its respiratory organ is

B30¢ DOVY WIHHYOIW WMFRY HIoWT ©T3
eVATIEIT Lon
a) gill b) trachea

c) book lung d) pulmonary sac
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a) N b) TATY (trachea) & 73. The atmospheric layer which reflects the
radio waves is called

Sewodpe STOMNAYD), TSWOWAT WIVBWTT
70. which of the following structures of a plant is TTTB, R0 TN
responsible for transpiration? =

C) 20T JAERCT d) 39R8Re3T Wew

a) Exosphere b) Stratosphere
83 ISNSPNYY 2.0 BT 03T SWFodn
WIIBRERA SOmRNE? c) lonosphere d) Thermosphere
a) xylem b) root a) maémw b) m@}é&m%&o:bcs
c) stomata d) bark C) ®oSIRRES d) z;jei\raerﬁy@ojac@
a) %@o b) Sed 74. Who is the latest chairman of the Prime

Minister’s Economic Advisory Council?
¢) BpesToL d) 3ened
TFeT FHOZOPTT HRFT TOTD TWI0H VLU
71. which of the following plant pigments ORI C3R?

absorbs in red and far Red region of light? 9

a) Bibek Debroy b)-Dr. C rangarajan
8 IYNSYNCY BT BPT IFBHH) WEER oI
By BRTT o) ?)z;a-@s 3TEINYRY, %oeaé\rw%gd? ¢) Subramanian swami _d) Dr. Sumitra choudari
a) chlorophyll b) phytochrome D) 23T BLIVO® V) To.2.CONTIRS
c) cryptochrome d) carotenoids ) ALITEF0DI” TWLN  B) T, AW, WRTO
a) 3pedeeqer b) %mw@ew 75. India is the largest country in the
world
C) 3BpedpesT d) 39,8eeedTo0dT, NEd
PSR DIT - VITRE TeBTNT
72. match the followings. o082 23030
a) 6th b) 7th
tribal group  state
c) 8th d) 5th
1) reang I. Arunachal/Pradesh
' 76. Suresh can cover a distance of 6 kilometers
2) dimasa [I."Nagaland in 45 minutes. If half of it is covered in 2/3 rd
) of the time, how fast will he have to cover the
3) konyak Hl«Tripura remaining distance in the rest of the time?
4) mishmi IV. Assam BT 45 AWIALY 6 3SREWEWT BRTI
R BWIBWORD. ¥TT WFFTIIY, 2/3 SRy xdaofadcé
WY, MHOTY T, 223 008 BoRTRST ROT BATTR

Toomes wam om, Senhon aodtmmIE?
a) 12 Kmph  b) 10 Kmph

1) oo3por® | whmoEy IWe3

2) QTID Il. SomeR0T®
3) dnmeE Il gmoe c)8Kmph  d) 6 Kmph
4) and, IV. @20 77. round revolution is related to
1 2 3 4 TOT TS (ad%& Towoadd
a) | 1 v m a) production of egg
b) | Vi 1 m b) production of potato
c) 1l I v | c) production of of vegetables
d) Ml WV, 1 | d) production of fertilizers
a) BeE0D WIS b) swwndod WIS
S
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C) 20T0RY wons d) CFMALONY wmEs | @ b) Doseodh kv SORRT HRGO SGE

3easo Bxsor
78. The place where the third Buddhist
conference was held C) TOREOD DLy sodeenmy) 1992 3
T30 TN
Soeose zia% RSN 1 B¢ dTCTGwGO:’D Dvd BoiRenmy WFIR Beonod

CS'&% NON O3TONTI.
a) Rajagruha in Bihar

S 81. Who were the first Kings to issue gold
b) Vaishali in Bihar coins in India?

c) Pataliputra in Bihar PTBRY UTT TN VAT TRRS
. . TRTO mz:zf% oSndo?
d) Kundalivan of Kashmir

M b) indo-greek
a) 0TITT U b) 2300T HEed a) Mauryas  b) indo-greeks

Gupt d) Kush
c) wme0n mudens  d) ST BRI ¢) Guptas ) Kushanas

SP0HED  b) QoBRE-NEFD
79. the first inscription of Kannada, Halmidi 3 e ) dodRe-Ne

presently found in c) T d) BTo3

IR aira%d.racso IS TOR WIS JRFweN 82. Adi Shankaracharya established for
3ORITHT B Mathas. These Mathas are situated at
a) Visvesvaraya Museum, Bangalore B30 303000 E TI=TO) DBRAY,

% AT YR 2T %Y

b) Director of Archaeology and Museums,

Mysore. a)Badrinath, Dwarka, Puriand Sringeri
c) Director of Archaeology and Museums Halmidi, b) Badrinath, Dwarka, Puri and prayag.
Hassan.

c) Dwarka, Puri, Sringeri and varanasi
d) None of the above

a) BBONUROT DeTTOR), BABHCIO
b) RYooIE T BRAORTRLED BB 000

d) None of the above

a) WTOCTOT, 0T, PO [T z%oﬁea

B,RRT. b) 20T, WYTBFD, PO WY TOSTeN.
C) PooE, T _BAIONTIOD FB/ACHO C) TROT, PO, 3oned BT [OTHOX
SATT FOR. ‘ =

d) edT cIPTR ¥
d) e cYBR ¥Y
83. who among the following has started the

80. which of the following statements are Public Works Department in India in 1848?

correct with respect to National women’s

Commission? 18483Y mRwdT SredeeIcdeen t‘c:ze:‘aé::?o&:rxﬁae1
ESTOPITIFT O30T ?

ToReoD ke so3Rend TowoRawod 33 TSNS

ol Beoned 3 Namﬂ£7 a) Lord William Bentinck

a) constitutional body b) Lord Dalhousie

b) first Chairman of National women’s c) Lord Wellesley

commission is Rekha Sharma
d) Lord Cornwallis
¢) National women’s Commission started in
1992 a) REF AO0N0 BooFT

d) National women’s commission is a 5 members b) eow's o T

body including chairman.
C) T E IGY

a) TOONTOT BOF
® d) ovw's o5 9%
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84. match the following deserts and their & gases?
locations
83 ISNTINYY BRTF) DT WIORTINZ?
BINT WPRNNL ), FINY), JRODA
L3000 - @ a) carbon dioxide, oxygen, nitrous oxide and
ammonia
1) Kalahari I. South America
b) chloro fluoro carbons, carbon dioxide, Ammonia
2) Atacama II. Australia and nitrogen
3) Thar [1l. Africa c) methane, nitrogen, carbon dioxide and
ammonia
4) Great Victoria IV. Asia
d) chlorofluorocarbons, carbon dioxide, Methane
1) 300 l. Bed 93003 and nitrous oxide
2) ©t3505359 Il. sBedo3m a) OTPOT FWT &, STHHRIT, JWRI ©T T L)
= SOV IeWO L el
3) @oT° . 850 N
b) dpedoe Fpedw FTWFT NER.Q0TOOT
4) Tees® Q3003 IV, DTy de B, ©REACIT® WI-TTHI?
1 2 3 4 c) eged, TTEFB, EMOT F©d & I
CoIgMever)
a) 1] vV Il I
d) 3RcBWEFRCTRETIVET® MY, QOMOOT cééejéézsf,
b) \% Il I I B @3 Y %@ﬁs o3 = ~
c) v I ' Il 88. rain water collected after 30 to 40 minutes
of raining is not suitable for drinking because it
d) I I vV Il contains
85. what is the full form of ASSOCHAM? 30 00340 DWINALY =L 033 ZonWIT P
-
ASSOCHAMS Sptor o Qe BROLLN o&ramswg LHIow3
_a) associated Chambers of Commerce and a)\bacteria‘andAlirt
industry of india b) dissolved toxic chemicals
b) associated officers of Commerce and-industry c)is deficient in minerals
c) associated of Commerce d) is acidic
d) associated Chambers in India a) 3003 T FRY
Sed -
3. WRRCACNCWET DDOWT'F BT TowF F ©WOw° =
Sows, ST ORI b) 3TNT LHFTO TOFRONIBMLD
b. 9B 0cA00eETE® SLCATE BT ToWIF WOT° €) D2&MY 20T
QOB d) snecDONT
C. ¥ARCACNCET ST FIWEF 89. the Council of of ministers of Indian union is
0. 5ARCAODCHE ST DOWTE AT VORI collectively responsible to the
- 9
86. International Court of Justice was &%g?;ﬁgggﬁgg@ AL IR
established in the year ¥ ® -
@oém&go&: msomooﬁwmdm@&%d S a) president b) Prime Minister
2) 1947 b) 1946 c) Rajyasabha d) Loksabha
e -
¢) 1950 d) 1948 3) DOFREND b) Feos =08
< -
87. which of the following are greenhouse S c) e S d) Swesze
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body?

3 FINIPNLY CIPIYT BoRTTZF FoBOHY?
a) interstate Council

b) Election Commission

c) state election commission

d) National Human Rights Commission
a)@oédwzx23 OB

b) dToxHmo wodeen

c)croasZS BDTORTO Bodeen

d)m%@oﬁa BRIV BRI sodeen

91. “no confidence motion” against the Union
Council of Ministers can be initiated in

3603, T0STLOBOT ATHT “WNTYB Vrorodh TRy,
Y TITOPHTT.

a) Rajya Sabha only

b) in Lok Sabha only

c¢) both Rajya Sabha and Lok Sabha
d) none of the above

a) COBAPONY =W,

b) Srezxong =R

c) Uozsé:izﬁ DY S@ezHE HTBR
d) RedIPYNYY CPyae Y

92. which one of the following is the largest
committee of the parliament?

B FIINTYNYY BRDPT TIFRoows © d.raci
BNSC3PNTI?

a) the public accounts committee

b) the estimates committee

c) the committee on public undertakings
d) the committee on petitions

Q) TBERIT STTZ WS

W) WO BN

90. which of the following is not a constitutional ®

93. presently the law minister of India is ............
T 0T DR FWIL

a) Ravi Shankar Prasad

b) Subramanian Swamy

c) Kiren rijiju

d) none of the above

Q) ORJ0TTT TFIOT®

W) AWTEIONT T

2) $35° 0%

B) HeOIPNYY BPRTL Y

94. NRI (non-resident Indian) Day celebrated on

NRI (22z22 egdted) QI
$OTRNITI

a) January 9\ b)February 9
c)March 19 d) January.12
D) BIB[O 9 Q) PATO 9
2) S A9 &) uIWO 12

95. what is the theme of the jan aushadhi Divas
2022?

BPIQ AR 2022 T HETE DTW?

a)Jan aushadhi janupyogi

b) atmanirbharta and affordable aushadhi
c) Awareness of Jan aushadhi prayojan

d) leaving no one behind

a) XPRG wIReBoSReN

b) ©2825F0 BB ienndm ITTY BIE
C) BPTO TO3RRIT @O

d) 0350330, H0oT @I

96. which is the venue of the 2022 ISSF World
Cup?

2022 B DT RT QPR (ISSF) Qg IR 3¢
O3PTYT? ®

R) TODFRIT QO IONY BN a) Paris b) Cairo
R) B FNRY DT WS c) Budapest d) Moscow
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a)moF  b) 3o ® )20 osnwo b)30 oI
(O EANDE ) m:’u%e c) 40 N d) 15 IR
97. money multiplier in India is defined as
TITY T MBI, Lent TEIRDTCNT
a) broad money / base money

b) broad money / reserve money

c) reserve money / base money

d) none of the above

A) VTVO T / DR TED

b) Dz T / R T

C) SNETL T / VRY BB

d) 2eOIPYNYY BPTBR VY

98. presently the chairman of NITI Aayog
TAZTeN ded BBRNT VFITL

a) Shri Suman Bery b) Narendra Modi
¢) Arvind Panagariya d) Dr. V. K. Paul

a) 3¢ DWT* WO b) SBeoTeRredd
C) ¥TLOT® JBINOCITD d) @."Q. 3 e

99. the speed of boat downstream is twice the
speed of the boat upstream. if the.time taken
by the boat for travelling 20 km downstream
followed by 20'km upstream is 6 hours. find the
speed of the boat in downstream?

SR DTN BREFOPD Fenwmy) eI Beecdon
deﬁa&os oo wu& BNTTT. LoTHIesd
BreBodn Bgmnsen 20 &.%30¢ 63 e DN
20 3.50¢ ISy SRTEALT TFow 6
rioaéﬂ%nigad. Um0 TN BODTIR Seesdond
amsm& BOTWROWND?

a) 8 kmph b) 6 kmph
c) 5 kmph d) 4 kmph

100. A can complete a job in 60 days A and B can
complete it in 20 days. find the time that B would
take to complete it?

A 2,00 20BS™, 60 OIALY TFerorRee TS,

A =53 B apth & 20338, 20 OIAYY
HPRERRYE5S. TGS B e IPLrRAvID
SRHERHT TRHoHTY BOTLERO?

a) 20 days b) 30 days

c) 40 days d) 15 days o
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